
141106375-01 - 4/16

XV.  Repair Parts

	 All K2FT™ Series Repair Parts may be obtained through your local U.S. Boiler Wholesale distributor.  
Should you require assistance in locating a U.S. Boiler distributor in your area, or have questions regarding 
the availability of U.S. Boiler products or repair parts, please contact U.S. Boiler Customer Service at               
(717) 481-8400 or Fax (717) 481-8408.



142 106375-01 - 4/16

XV.  Repair Parts (continued)

Space Heating Models Heat Exchanger & Piping Repair Parts
Key 
No. Description

Part Number (Qty)
K2FT-085 K2FT-110 K2FT-155 K2FT-205 K2FT-270

1A Heat Exchanger Contact U.S. Boiler Company.  Provide boiler serial number.
1B Burner Repair Kit (includes burner and screws) 106986-01 106986-02 106986-03 106986-04

1C Burner Screw, Socket Head Cap Screw, M4 x 6mm, 
316SS 101064-01 (3) 101064-01 (4) 101064-01 (5)

1D Burner Plate Insulation 106969-01 106969-02 106969-03

1E Burner Plate Repair Kit (includes burner plate and 
insulation) 106985-01 106985-02 106985-03

1F Burner Plate Flange Locknut, Serrated, M6 x 1.0, 
Zinc Plated Steel 101724-01 (4) 101724-01 (5)

1G Flame Sensor Repair Kit (includes electrode, gasket 
and hardware) 105798-01

1H Igniter Repair Kit (includes electrode, gasket and 
hardware) 103005-02

1I Heat Exchanger Flue Gasket Repair Kit 107000-01 107000-02
1J Flue Pipe Repair Kit (includes pipe and gasket) 106998-01 106998-02
1K Flue Pipe Gasket Repair Kit 106999-01
1L Silicone Tubing Repair Kit 106989-01
1M Flue/Inlet Switch Repair Kit 106988-01 105857-01 106988-02
1N Condensate Trap Repair Kit 106990-01
1O Return Sensor Repair Kit 106991-01
1P Flue Gas / Blocked Drain Sensor Repair Kit 106993-01
1Q Supply Sensor Repair Kit 106994-01
1R 30 PSI Relief Valve 81660319
1S 3/4" NPT Drain Valve 806603061
1T Temperature & Pressure Gauge Repair Kit 105894-01
1U Water Gasket Repair Kit (includes 2 gaskets) 106995-01 106996-01

1V Supply Pipe Assembly Repair Kit (includes pipe 
assembly, gasket and jacket grommets) 106977-01 106977-02

1W Return Pipe Assembly Repair Kit (includes pipe 
assembly, gasket and jacket grommets) 106997-01 106997-02



143106375-01 - 4/16

XV.  Repair Parts (continued)

1H 1G

1F

1J

1E

1D

1C

1B

1M

1L

1N

1S1T

1V

1R
1W

1U 1Q

1P

1O

1A

1K

1I

1U

Space Heating Models:
•  K2FT-085
•  K2FT-110
•  K2FT-155
•  K2FT-205
•  K2FT-270



144 106375-01 - 4/16

XV.  Repair Parts (continued)

155 MBH Combi Heat Exchanger and Piping Repair Parts
Key 
No. Description

Part Number (Qty)
K2FTC-155

2A Heat Exchanger Contact U.S. Boiler Company.  
Provide boiler serial number.

2B Burner Repair Kit (includes burner and screws) 106986-03
2C Burner Screw, Socket Head Cap Screw, M4 x  6mm, 316SS 101064-01 (4)
2D Burner Plate Insulation 106969-02
2E Burner Plate Repair Kit (includes burner plate and insulation) 106985-02
2F Burner Plate Flange Locknut, Serrated, M6 x 1.0, Zinc Plated Steel 101724-01 (5)
2G Flame Sensor Repair Kit (includes electrode, gasket and hardware) 105798-01
2H Igniter Repair Kit (includes electrode, gasket and hardware) 103005-02
2I Heat Exchanger Flue Gasket Repair Kit 107000-01
2J Flue Pipe Repair Kit (includes pipe and gasket) 106998-01
2K Flue Pipe Gasket Repair Kit 106999-01
2L Silicone Tubing Repair Kit 106989-01
2M Flue/Inlet Switch Repair Kit 105857-01
2N Condensate Trap Repair Kit 106990-01
2O Return Sensor Repair Kit 106991-01
2P Flue Gas / Blocked Drain Sensor Repair Kit 106993-01
2Q Supply Sensor Repair Kit 106994-01
2R 30 PSI Relief Valve 81660319
2S 3/4" NPT Drain Valve 806603061
2T Temperature & Pressure Gauge Repair Kit 105894-01
2U Water Gasket Repair Kit (supply and return pipes, includes 2 gaskets) 106995-01

2V Supply Pipe Assembly Repair Kit (includes pipe assembly, zone valve body, gasket 
and jacket grommet) 106977-03

2W Return Pipe Assembly Repair Kit (includes pipe assembly, gasket and jacket 
grommet) 106978-01

2X Zone Valve Actuator 106847-01
2Y Circulator to Flat Plate Pipe Assembly Repair Kit (includes gasket) 106979-01

2Z Water Gasket Repair Kit (top flat plate heat exchanger connections, includes 2 
gaskets) 106996-01

2AA DHW Circulator, Taco 007 (includes circulator and gaskets) 106943-01
2BB Circulator Flange Kit (includes 2 flanges and hardware) 105149-01

2CC Flat Plate Heat Exchanger Repair Kit (includes heat exchanger, water gaskets and 
jacket gasket) 106984-01

2DD Flat Plate Heat Exchanger to Mixing Valve Repair Pipe Assembly (includes gaskets) 106980-01
2EE DHW to  Mixing Valve / Flat Plate Repair Pipe Assembly (includes gaskets) 106981-01
2FF Mixing Valve to DHW Repair Pipe Assembly (includes gaskets) 106982-01

2GG Water Gasket Repair Kit (bottom flat plate heat exchanger connections and mixing 
valve, includes 5 gaskets) 106488-01

2HH Thermostatic Mixing Valve 106342-01
2II Flow Switch 106343-01
not 

shown DHW Circulator and Zone Valve Repair Harness 107004-01



145106375-01 - 4/16

2G

2E

2D

2C

2B
2M

2L

2N

2A

2H 2F

2I

2J

2K

2O

2P

2Q

2R

2S

2T

2W 2U

2V

2U

2BB

2AA

2HH

2DD2EE

2CC

2Y

2FF

2GG

2Z

2GG

2Z

2BB

2GG

2GG

2GG

2II

2X

XV.  Repair Parts (continued)

Combi Domestic Hot Water 
and Space Heating Model:

•  K2FTC-155


